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QUESTION 1

Refer to the exhibit. 

Based on the Synergy configuration shown, what will be the outcome in the event of an end-of-row (EoR) switch
failure? 

A. Smartlink will be triggered 

B. There will be no NIC failover. 

C. Uplink bandwidth will decrease. 

D. Server and downlinks will fail. 

Correct Answer: B 

 

QUESTION 2

A Synergy integrator is working with a customer to perform a first-time setup of a 3-frame Synergy environment. The
following fabric modules are installed: Frame 1 

Bay 1

Correct Answer: A 

 

 

QUESTION 3

A Synergy integrator is modifying the network uplink configuration of a Synergy environment that uses HPE Synergy
40Gb F8 Switch Modules for connectivity. 
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What must the Synergy integrator do to make the necessary modifications? 

A. Connect to the switch module CLI and run the necessary configuration commands. 

B. Connect to the end-of-row (EoR) switches and push the configuration to the switch modules. 

C. Connect to HPE OneView running on the Composer module to modify the Logical Interconnect Group (LIG)
configuration. 

D. Connect keyboard, monitor, and mouse to the Frame Link module, and run the network configuration wizard. 

Correct Answer: D 

 

QUESTION 4

A customer has the following configuration: 

15 Synergy Frames with 150 HPE SY 480 Gen9 compute modules 

15 HPE Synergy D3940 storage modules with 40 disks each 

10 Image Streamers 

10 HPE Synergy Virtual Connect SE 40Gb F8 modules 

20 20Gb Interconnect Link Modules 

During setup, how many enclosures should the Synergy integrator select for the Logical Interconnect Group ((LIG)? 

A. 5 enclosures 

B. 10 enclosures 

C. 15 enclosures 

D. 20 enclosures 

Correct Answer: A 

 

 

QUESTION 5

DRAG DROP 

Use the arrow or click and drag the steps on the left to set up a new HPE Synergy 12000 Frame into the correct order
on the right. 

Select and Place: 
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Correct Answer: 
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